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fAder: () o9 ye-ud H od 26 YA &1 el v sifard £
Directions: There are in all 26 questions in this question paper. All questions are
compulsory.
(i)  weet &g FreiRa i 370 v sifed 2
Marks alloted to the questions are mentioned against them.
(i) TP Y BT LAY Uled q T R o
Read each question carefully and answer to the point.
(iv) 5= G 1 Sgfaseiia 72 21 39 U9 & I W@Us & 3R H TR faded fad

(v)

(vi)

(vii)

(viii)

(ix)

e &1 T8 ey a1 SRy # feRae | e Hwear 2 1 7 7 Fived sk
T2 gl

Question No. 1 is multiple choice question. Four options are given in
answer of each part of this question. Write correct option in your
answer book. Question No. 2 to 7 are definite answer type questions.
e TRET 8 | 12 A Y bl JAR THINT 40 Y& H qifote|

Question No. 8 to 12 are to be answered in about 40 words each.
e TRET 13 /20 A Y Pl JaR THINT 100 T H qifoel

Question No. 13 to 20 are to be answered in about 100 words each.
9 TR 21 | 25 A P Bl IR THIHT 150 T H alfore|

Question No. 21 to 25 are to be answered in about 150 words each.
Yo T 26 B/ senRa v 2, e s Ferger el
Question No. 26 is Case/Source based question, to be answered as
directed.

= U207 F T R PE [ped el & qunfy s gl # siaRe fawed
e oo T 1 ¥Ry vt o Saet U fdded & & TR Alfsel

There is no overall choice in this question paper, however, an internal
choice has been provided in few questions. Attempt only one of the
given‘choices in such questions.
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1 (@) S s R :

()  ffear gwa (i) ORT AT
(i)  frarse Mafa (iv) 3ot wifer
Who was the last President of Soviet Union?
(i) Nikita Khrushchev (i) Boris Yeltsin
(iii) Mikhail Gorbachev (iv) Joseph Stalin

(@) JRIT TG’ P AGe it [oebR oot af frare 1
(i) 2011 i) = 2012
@iy 2013 : (iv) 2014
In which year the 'European Union' got the Nobel Peace Prize?
(i) 2011 (i) 2012
@iy 2013 (iv) 2014

(1) "Y<h IUR A R a8 & oo Tiee | gwer o w2 1
Gy 54 (i)t 7.
(i) 109 (iv) 12d
In which SAARC Summit, the 'SAFTA' was signed?
(i) 5th (i) 7th
(iii) 10th (V) - Tl 2th

(7) ‘HE P15 AeMRY foow 391 § wafver 27 1
i) fee= (i) U=
(i)  3@Rer (iv) = sregforan
Which country is associated with '‘Mad Cow' disease?
(i) Britain (i) Japan
(iii) America (iv) Australia

(¥) a9 2001 # ‘ges WIeret BRA' B Ueeh dob o awr # gg? 1
(i) ¥Ra (i) gwls ’
(i) St (iv) g
In which country was the first meeting of 'World Social Forum' held in
20017
(i) India (i) England
(iii) Brazil (iv) France
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(7)) i TtE & T I 9 SET S 89 1

(i) WIEHE 3Had (i) 3T TR G
(i)  HewE s S (iv) i 3meTE
Who is known as 'Frontier Gandhi'?
(i) Mohammad Igbal (i)  Abdul Gaffar khan
(iii) Mohammad Ali Jinnah (iv) Maulana Azad
(B) ‘Oereiiel e’ R g¥aier fod ay ge 9? | 1
(i) 1950 (i) 1952
(iii) 1954 (iv) 1956
In which year was the 'Panchsheel Agreement' signed?
(i) 1950 (i) 19552
(iii) 1954 (iv) 1956
(37) T ad & 39 gIa | BRI A TRIG! &r3i B AR fear are 1
(i) 1971 (i) 1967
(i) 1977 (iv) 1984
In which year's general elections did Congress give the slogan of 'Garibi
Hatao'?
(i) 1971 (i) 1967
(iii) - 1977 (iv) 1984

forder - 7o TRET-1 % 31T A1 WUET H, €Y BT Bl 3B (A) T BRI (R) & 0 H fafad
R mar &1 FrefaRaa faeedt (i), (i), (iil) T (iv) H F TABR 3790 el 3R allofe|
Direction : In next two parts of Question No.-1, there are two statements labelled
as Assertion (A) and Reason (R). From the following options (i), (ii), (iii)
and (iv), select their correct answer.
(i) ATATR SHT T € q21 R, A B FEl ARAT el &
Both A and R are correct and R is the correct explanation of A.
(ii) A TR T TE & g R, A B TEI AT el BRal &
Both A and R are correct but R is not the correct explanation of A.
(iii) A F&! & TR=g R 7T &
A is correct but R is incorrect.
(iv) A T R 1 TTeid &
Both A and R are incorrect.
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(#) B (A) :
®RUI (R) :
Assertion (A):
Reason (R) :

(57) B (A) :

®RUT (R) :
Assertion (A):

31TST T raTifad aa f3rem 31k JAsmR # fes) snfaat & o
el & 3TRe0T & uer H &

ST &al = vga foran € % fuse! snfaat & amfss sik
ISHITID a9 B WIPR B B TR & 1

All political parties now support reservation of seats for

the backward classes in education and employment.
Political parties have recognised that the social and political
claims of the backward castes need to be accepted.

1947 & 91 HIIR HRA 3R UTfhea™ & ST Gy &I Uh &3

Heal & &l
1947 & U 5] Td YUK § Iroremar | 1

Ever since 1947, Kashmir has remained a major issue of
conflict between India and Pakistan.

Reason (R) : Before 1947, Jammu & Kashmir was a Princely étate.
HY<H TG P H2RT HERIAT DI I? 1
Who was the first Secretary General of United Nations?

Te8 BIRE 3T STl Nuet’ e & o foow af gam en? 1

In which year the 'World Council of Indigenous People' organisation was

established?

AR ¥ 3R GURT B Ao B Y& gs 1P 1
When the Economic Reforms Planning was started in India?

fovr foifr @1 gaRT wfders sifigea fobar mar ar? 1
On which date our Constitution was adopted?

eIl SETGR SRAT g1 foram T g <IRT aqam &r? 1
What was the famous slogan given by Lal Bahadur Shastri?

1984 & AIHEHT TG H BIINT B Tl WS el &y? 1
How many seats Congress got in the Lok Sabha election of 1984?

1967 & §1& "3RI’ & TR T W& 2911 & 1 §a=| 2
Write the name of four new member countries of 'ASEAN' after 1967.
RIS Gl BIY & fobel & Braf 1 Jeer difoTel 2

Mention any two functions of International Monetary Fund.
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13,

14.

15.

16.

7

1.8

19;

20.

2L

<ih ey & Sieary WRadE ¥ e g R (UNFCCe) &1 FIT AT &? 2

What is the importance of United Nations Framework Convention on Climate
Change (UNFCCC)?

dudieRor # ‘YaTE’ BT FT 3R &7 2
What is the meaning of 'flow' in Globalisation?

e dasTa AisT & e dist )R e’ SUTEl SR 21?360 difote| 2
What was the major thrust of the Second Five Year Plan? Mention.

1978 % gZaTd A9 P 3N fabr o1 auia DI 3
Discuss the economic development of China after 1978.

v-gd1a faga ¥ Wy Wgwy @ yfieT o dam J ol il 3
Write in brief the role of UN in Unipolar world. ‘
TTaRUT & HYell IR WRA & U&7 &1 JoiF Difsel 3
Describe the India's stand on Environmental issues.

TR & Te A 3T Gt § BRI & T B BRI BT Iewid Dioe| 3
State the reasons for the dominance of Congress in the first three general
elections.

1960 % 21 B B UIe] & T ¥ ‘Rifswe’ &1 7 3rf 7? W Hiforel 3

What does the term 'Syndicate' mean in the context of the Congress party of

the sixties? Clarify.

TR & YRAHT A= 3 ol e TG ? 3
What are the lessons of Emergericy for Indian democracy?

Hiee 3N R ve diad o foafeel 3
Write a short article on Mandal Commission.

2004 3 AHEHT TATE TTATd WRAD Tl & T F&esi Bt Tei BT 3

Discuss the new changes in Indian Politics after Lok Sabha elections 2004.

Giftraa g % e & geTmd &1 av sl 5
Describe the events of the disintegration of the Soviet Union.

3AAdi/OR
Lo 3 ke Aifaa 9 3R YRd & Tl o gl Hieil

Discuss the relation between Soviet Union and India during Cold War.
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22

23

24.

25,

26:

qieTeeT & T § 9Ra & YT o auie Sifswe| 5

Describe the role of India in the creation of Bangladesh.

3Udi/OR
ﬁmv&mﬁﬁq&ﬂuﬂaﬁaﬁaﬁmﬁméﬁmﬁaaﬁr%? fossit U 3aTRRUT &
T W DITSTE|
How are the external powers influencing bilateral relations in South Asia?
Illustrate with any one example.
RET FIT &2 GR&T DI IRURS &RUN B TS | 5
What is Security? Explain the traditional notions of security?

31[d1/OR
“HIRUYRD FRET & TR F Fue & ford 3ot weanT 3mawas 87| 39 o ol gfte
DifotE|

"Mutual cooperation is essential against the risk of the non-traditional notions of
security." Ratify this statement.
TR 31 g=A] e BT 3w o Rt & gane ==ef Hifswl 5
What were the conditions for evolution of India's nuclear policy? Discuss.
3di/OR
AT b ULATd HRA GRT IC MRUETAT ol =iy ol 1o mei? qofq SHifswe|
Why did India opt the policy of non-alignment after independence? Describe.
871 SIS B SMITADAT 3RTH & Hael # Hewrifepd il 5
Evaluate the 'need for regional aspirations' in the context to Assam.
3[d1/OR
aldg 3T a9 aT? 9 IR aar 38?”
What was the Dravidian Movement? What were its fallout?
FrferRad sre @1 ermgds ufed den b AR Ry E e % FeR fRed-
Read the following passage carefully and answer the questions given below-
3T fEgwa &1 3T+ Biow uRRfral # gam| fEgwam & 1947 # 5 zea & 91
STSTTE §3AT, SE 3% b <icb Dls I Howb I8 BT ¥ 3T ~T&l g3 7| Samey fyedy
T Q=T & SeaR & AT | T 1947 T Tet 31efagd fa=m sik Rt o1 A1=7El ol 1ed
| ST fegear @ 1 Rl # s sgfay @edt o e &< & am 3@
BT UST| BTG B 37 JUT-YUe R et & g st o1 eor 5 a1 & 7 e o
g 741 I, ARt bt e F 2
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India was born in very difficult circumstances. Perhaps no other country by then
was born in a situation more diffcult than that of India in 1947. Freedom came
with the partition of the country. The year 1947 was a year of unprecedented
violence and trauma of displacement. It was in this situation that independent
India started on its journey to achieve several objectives. Yet the turmoil that
accompanied independence did not make our leaders lose sight of the multiple

challenges that faced the new nation.

(F) 37TeTe femgea™ &l o1 bt diow aRRfadl & gan? W sifse| 2
Under what difficult circumstances was independent India born? Clarify.
(RF) 3SR $ R A& HRe b AR FoT T At 2P Seer aifoe | 3

What were the main challenges facing India immediately after independence?

% %k k Xk Xk
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